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= A 10 ;) i =
REEED Bh e £ FEERD A B EERD
(H30. 10. 1537 &it 5 & = &5 5 x &it 5 =
£ E3| 126,443,000 41.9 1.1 40. 8 29.2 963.8 75.3 888.5 240.8 17.2 223.6
E W5 =] 1,341,000 56.2 0.7 55.4 33.0 1,319.2 130.4f 1,188.8 519.5 45.1 474. 4
AIHEEE 1,227,422 54 0.7 53.4 32.8 1357.8 136.8( 1,221.0 524 47.5 476.5
Bt B 3 = B A 112,016 80.3 1.8 78.6 35.7 915 62.5 852. 6 477.6 19.6 458.0
K &G ™ & 8 Fr 416,419 59.1 0.5 58. 6 35.8 1620.7 165.9] 1,454.8 448.8 38.9 409. 9
EHETRER 249,628 39.3 0.8 38.5 385 1362.8 119.4 1,243.5 555.6 55.3 500. 3
% R BT 98,921 58.6 0.0 58.6 28.3 876.5 54.6 821.9 434.7 24.3 410. 4
m &\ ™™ 27,291 55 0.0 55.0 7.3 699.9 102. 6 597. 3 549.6 55.0 494.7
3 5 iy 41,913 69.2 0.0 69. 2 11.9 553.5 16. 7 536. 8 307.8 9.5 298. 2
B E H 29,717 471 0.0 47.1 70.7 1494 1 63.9[ 1,430.2 508.1 16. 8 491.3
B & R & 265,971 54.9 0.4 54.5 39.9 1413.3 147.0[ 1,266.3 516.2 58.3 457.9
2 B ™ 135,285 65 0.7 64. 3 33.3 1292.8 124.2 1,168.6 629 68.0 561.0
X #® ™ 94,460 38.1 0.0 38. 1 62.5 1681.1 176.8| 1,504.3 355.7 41.3 314. 4
B O O HT 7,921 265.1 0.0 265. 1 0 959.5 176.7 782.7 757.5 164. 1 593. 4
JI 1 iy 13,691 7.3 0.0 1.3 14.6 1833.3 241.0] 1,592.3 350.6 1.3 343. 3
K oE R OHE 14,614 0 0.0 0.0 0 650.1 61.6 588.5 533.7 68. 4 465. 3
B B R & M 130,227 52.2 0.0 52.2 14.6 1044.3 150.5 893. 8 741 58. 4 682. 7
5 R 43,903 70.6 0.0 70. 6 36.4 1391.7 225.5[ 1,166.2 931.6 91.1 840.5
£ W m™ 42472 447 0.0 44.7 0 1061.9 155. 4 906. 5 579.2 33.0 546. 2
mERTT 43,852 41 0.0 41.0 6.8 679.6 70.7 608. 9 706.9 50.2 656. 8
B d & & 66,256 70.9 4.5 66. 4 75 798.4 74.0 724.5 615.8 42.3 573.5
T F ™™ 30,242 89.3 3.3 86.0 9.9 1170.6 99.2[ 1,071.4 687.8 49.6 638. 2
w E ™ 22,272 53.9 9.0 44.9 0 529.8 26.9 502.9 570.2 9.0 561. 2
B < H 13,742 58.2 0.0 58.2 14.6 414.8 94.6 320. 2 531.2 80.0 451.2
5 5 &R B Fr 35,429 67.7 0.0 67.7 39.5 1033.1 79.0 954. 0 536.3 31.0 505. 2
rFEEREA 20,833 86.4 4.8 81.6 38.4 859.2 48.0 811.2 374.4 19.2 355. 2
N B B OHT 2,390 125.5 41.8 83.7 0 334.7 0.0 334.7 376.6 83.7 292.9
1 LR B H 18,443 81.3 0.0 81.3 434 927.2 54.2 873.0 3741 10. 8 363. 3
= Ik & @ B 25,841 735 3.9 69. 7 38.7 851.4 85. 1 766. 2 615.3 3.9 611.4
X B &R # Pt 29,913 96.9 0.0 96. 9 26.7 869.2 33.4 835. 8 361 20. 1 341.0




